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swer/Answer the

the correct an
1x8=8

1. Choose
following :
(a) The nt

of a s€
(i) geometr

h root of the product of n items

ries’ is termed as
ic mean

(it) harmonic mearn
viation
( Turn over)
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(2)

(b) The
Standﬁzle.of A and B h
4 deviation §. But, the Z:iih e
2 metic

mean X
Gt DI
variation of A Will. bzhe coefficient of

(i) less than B

(1) greater than B

(iii) equal to B

() None of the aboy
() The chance of d.ra : g

from a win :
; of 52 cards ng in a draw

Bl e

52
()
(iii)

(iv)

(3) 7

() The Spearman’s coefficient of rank
correlation p ranges from

(i) O to +1
(i) -1 to +1
(iij) —1 to 0

(iv) None of the above

(g) The value of J[bxy x byx is equal to

limitation of mean

four of the following

t notes on any
4x4=16

0 words each) :

(within 15
d kurtosis

(@) Skewness an

(b) Binomial distributiont
(c) pistinctio® between correlation and

regression.
] error

f index numbers

(d) Type—I

(€) Splicing 0
( Turm over)
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(4)

3. (@) Wh
) at do you mean by dispersion?

(b)

Explaj_n vari
% ous m
dispersion. ethods of computing

Or
Fro
m the following data, find the

missing frequenci
is 5647 (V=150) - when the mean X

Daily wages (Mid-value) (in Rs)

Frequency

60 | 65 | 70

45 50 | 55
S | 48 2

4, (a)

_Wpes of sampling

(b)

30| ?

What is g i
ampling? Describe different

Or

3 the f :
found in a t OHOWH'lg results were

M
ale Female Totql
56 3]

18

Taking tea

Not taking teq - 87

€e of fref'fdo

€ is 3:84, 1t at 5% level of

( Continued!

11

75
6

- 249=11

11

2+9=11 }

a

S. (a)

(b)

6. (a)
”\\

(5)

the multiplication

How is the result

are not
8+3=11

State and prove
theorem of probability.
modified if the events

independent?
Or

If two dice are thrown, what is the

probability of getting—

(i) either total 8 or total 10;
(ii) )

(iii)
(iv)

at least oné six;

total being multiple of 3 or 4;
total of 9?7 3+3+3+2=11

rties of Karl Pearson’s

coefficient. _of correlation. Find Karl
Pearsb?f’é coefficient of correlation
alues of X and Y:

b‘itween the

Mention the propeé

following v

w, find (i) the
(i) the most
en the

data given belo
uations,

From the
eoressiop eq 3
twa YE& 7 . Statistics, wh
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(6)

7. (@) () Mention the problems of construc-

tion of index numbers. 4
(@) From the following data, construct - ¢
Fisher’s ideal index :
Ideal Index :
2010 2011
Commodities v -
Price | Quantity| Price | Quantity
A 5:00 100 6:00 150
B 4-00 80 5-00 100
c 2:50 60 5-00 72
i 12-00 30 9-00 33
Or

(b) (i) Distinguish between fixed-base and
chain-base index numbers. 0

(i) Find chain-base index numbers

from the following fixed-base index
numbers 5

Year

- 2010 | 2011
Fixed-base

index numbers

105-60 | 95-04 | 133-06
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